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. Vocabulary

1. Explain what a vanable is.
. ‘ ~ In2-8, write the correct symbol for each matheinaﬁ(:al verb.

. 2. is less than- | |

rf ' _ 3 s approximately equal to E

s 4. is gféater. than or equal to

: 5. is equal to

6. is less than Volr equal to

: 7. is not equal to

: q } 8. is greater than

e 9. Tell whether or not the given sentence is an open

3 sentence. Write yes or no.

. a. 2.5g | b. 63 <63 em2=81 __

£ d.24<8A . ey=1l4 £ 0.1855 — w s

X % 10. Write an inequality comﬁaﬁng ﬂ— and% | | S
g a. using the symbol s o -

;f |  b. using the symbol “<.” —

§ 11. Write.dn inequality comparing %and 2

l g | a. using the symbol —‘-‘27”

b. using tﬁe_ symbol ‘‘<.”’
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In 12—14 let r = Ruth’s math test score. Write a sentence in
words. for each algebralc sentence. -

12. r= 84

3. r # 84

- 14, r < 100

15. lee a number that is.a soluﬂon to the sentence

m Questlon 14.

16. Let A = the land area of Rhode Island in square miles.
Write in inequality to describe the following statement

The land area of Rhode Island is less. than

2,000 square miles.

Skillé ﬂbiécﬁve A"' Find solutions to open sé'ntences u_éih'g trial and error.

| Iy A Wthh of the numbers 3, 6, and 10 are solutions

-of 4 + n =107
" 18. Which of the numbers 4, 5, and 8 are solutions of

9 —-b=4b— 11‘7
19, Which of the numbers 1, 4, and 7 are solutions of

2 m = 87

20. Whlch of the numbers 8 15, and 20 are solutions

ofh<8‘?

In 21 and 22, give three solutions to each
open sentence.

21. u > 4.8

22.v=135

In 23 and 24, gi've both solutions to the equation..

33, &P = 64
24, d2 =1

25. G1ve an example of an inequality for which

6 is a solution.
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